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1. Onuc HaBYAJIBLHOI AMCIUILIIHA

Meta IIpakTuyHe BOJIOJIHHSA iHO3€eMHOI0 MOBOIO

Komnerentricts | [IKO2 (073 «meHemKMeHT») 3[aTHICTh TMPOBOJUTH TIOTOYHUN EKOJIOTO-
€KOHOMIYHUI aHaji3 IHHOBAIIHHO-1HBECTUIIIMHUX ITPOCKTIB.
ITKO1 (281 «I1Y A») 3naTHIiCTh 10 €deKTUBHOI Ta 0€3KOH(IIIKTHOI KOMYHIKAIIii.
3K07 (073 « MeHEIKMEHT») 34aTHICTh CIIJIKYBATHUCSA iIHO3EMHOKO MOBOIO.
3K11 (281 « ITYA») 3aaTHICTh CHIJIKYBATHCS] IHO3€MHOIO MOBOIO.

PesynbTar P21 (073 «meHemxMeHT») Y3araabHIOBaTH 1HGOPMAIIiI0 TIPO COILIaJIbHI SBHINA 1

HABYAHHS MIPOIIECH, BECTU JUCKYCIIO 1 MPOQECIHMIA TIaor 3 ayAUTOPIETO.

P17 (281 «IIYA») VYMith HamaBaTH KOHCYJBTAIlll MO0 HaJIaropkKeHOro,
HAI[IJICHOTO Ha pe3yJIbTaT TPYIAOBOTO KOJEKTHUBY, OPTraHi30BYBAaTH KOMAaHIHY
poOOTY 1 B3a€EMO/IIIO.

P13 (073 «menemxmenT») CrinkyBaTtucs B YyCHI Ta NHCHbMOBIH (opmi
JICP’KaBHOIO Ta IHO3EMHOIO MOBaMH;

PO3 (281 «ITYA») YMITH YCHO Ta TUCHBMOBO CHIJIKYBAaTHCS iIHO3EMHOIO MOBOIO.

Ba3oBi 3HaHHA

YMoBHHII cr10Ci0, BUIM YMOBHUX PEU€Hb, MOJIANIbHI JII€CIOBA Ta X €KBIBAJICHTH,
0e30c000Bi hopmu TieciioBa.

Ba3oBi BMiHHSA

1. Benenns Oecimu, J0MOBiAI 3 BHKOPHCTAHHSAM HAa3BaHUX BHIIE JIEKCHUKO-
rpaMaTUYHUX SBUII;

2. Po3yMmiHHS Ta BiJIbHE BUKOPUCTAHHS y MUCHMOBIN (hOpMi Ta Mia 4ac yCHOTO
CHIJIKYBaHHSI CIIEIiaJIbHOI JIEKCHKH YPOKiB 3, 4 mociOHHKA.

Bba3oBi HaBHUYKH

1. KopucTyBaHHS CIIOBHUKAMH Ta J0BiAKOBOIO JIITEPATypoIO;
2. lIBuakuii mouIyk y IpyKOBaHMX JKepenax Ta Mepexi Internet ingopmarii 3a
CHeLiaJIbHICTIO Ta KPaiHO3HABYOI'O XapaKTepy.

[ToB’s13aH1
criu1adycu

Inozemna moBa (I-VII cemectpn)

Ilonepeous
IUCLUILUIIHA

Hacmynna

KinpkicTh
roINH

[TpaxTiuni 3ana1ta : VI cem.-14;

Camocriiina po6ora crynenTiB: VI cem.-46




2.1 Mporpama napuaabHoi gucuumiinu (VIII cemectp)

KiLLKi
Kon HazszBa R IHZIT(:)CT;HX KinbKicTh
Monyas MOAYJHA Ta TEMH yAUTOP roqun CPC
rOAMH
Grammar: Conditionl sentences 2 2
Lesson Il text A «Human resources management: an
overviewy
Grammar: Subjunctive Mood
Lesson 11 text B «Human resources planning» 2 2
Lesson Il text C «Cultural diversity in human
SMAII3 resourcesy
Grammar: Modal verbs and their equivalents
Lesson 111 text D «Job analysis» 1 2
I[OMaH_IH€ YUTAaHHA
: 2
[TucemoBe TecTyBanHs Ne 3 1 5
Grammar: Infinitive
Lesson IV text A «Recruting, selection and 9 2
orientationy.
Grammar: Gerund
Lesson IV text B «Compensation and benefits»
Lesson IV text C «Training and development» 2 2
3M-I14
Grammar: Participle 5 5
Lesson IV text D «The legal environment of HRM »
[IncemoBe TecTyBaHHs Nod 1 5
JlomarHe yuTaHHs 2
Icniut 20
PA3OM 14 46
KoncyabTamii:




Buknanau fIuko Inona bopucisua, yetsep, 9:00 — 12:20 , ayn.613

2.2 CamocrTiiina po00Ta cTyAeHTa Ta KOHTPOJIbHI 3aX0/11

Kon 3aBaannst Ha CPC Ta KOHTPOJIbHI 3aX011 KinpkicTh Ne TakHA
Monyis I'opun
3M-I13 » TlinroroBka 10 yCHOTO OTIMTYBAaHHS 6 1-3
» TluceMoBe TecTyBaHHs 3(000B’SI3KOBE) 5 3
» IligrotoBka /O  TEPEBIPKH  JOMAIIHLOTO 2 3
YATAHHS
3M-I14 » TlinroroBka 10 yCHOTO OTIMTYBAaHHS 6 4-7
» TlucemoBe TectyBaHHs 4(000B’SI3KOBE) ) 7
» IligrotoBKka 10  TEPEBIPKH  JOMAIIHLOTO 2 7
YATAHHS
ITigroroBka no icrmra 20
PA3OM 46

Ouinweanna KOHmMpoOJabHUX 3ax00i6 011 3M-113

-- 1. a) ycHe onuTyBaHHs ( IepekiIaja Ta nmepekas Tekcri) — 16 Oanis
MaKCHUMAaJbHO;
0) yCHEe ONMUTYBaHHS (IOMAIIHE YUTaHHs) —4 Oau MaKCUMAaJbHO;
B) MTUCHMOBI BripaBu — 10 GaiB MaKCUMAaJIbHO;
--2. ITucemone TectyBanHs Ne 1 — 50 GaniB MakcuMaabHO (000B’A3KOBE)

Ouinrweanna KonmpoabHux 3axo0ie ona IM-I14

--1. a) ycHe onuTyBaHHs (MIEPEKIIa]] Ta epeKas TeKCTiB) — 16 Oaiis
MaKCHUMAJIbHO;

0) yCHe ONUTYBaHHs (JOMAIIHE YUTaHHS) —4 Oau MakCUMAaJbHO;

B) MUCbMOBI BrpaBu — 10 GaniB MakCUMalbHO;
--2. [lucbmoBe TectyBanHs Ne 2 — 50 GasniB MakcuMaiabHO (000B’SI3KOBE)




Cywma GauniB, sIKi OTpUMaB CTYACHT 3a JBOMa 3MICTOBHUMHU Moayssimu VI
cemecTpy, GOpMYIOTh KITBKICHY OIIHKY (0ain ycminmHocTi). Pesynbpratu
MOTOYHOTO KOHTPOJIIO 3aHOCATHCS J0 IHTETPaIbHOI BITOMOCTI.

[TincyMKOBHM KOHTPOJIEM 3HAHb CTYACHTIB € iCIUT.

CTyaeHT BBAKAETHCS AONMYIIEHNM /0 iCIIUTY, KOJIU BIH BUKOHAB YC1 BUIU
po06iT, mepeadadeHi cumutabycoM HaBYaIbHOI JUCIHUIUIIHKM, Ta MAa€ Ha OCTaHHIN
JIeHb CEMEeCTPY IHTETpajibHy CyMy OalliB MOTOYHOTO KOHTPOJIO, JoctatHio (50
Ta OLIbIIIe) JAJISI OTPUMAHHS TTO3UTHUBHOT OITIHKH.

B sxocti ¢opMH MOTOYHOTO KOHTPOJIIO MPAKTUYHUX MOJYJIB — YCHE
ONMUTYBAHHSI, MMCbMOBI BIIPaBU, TUCbMOBI TeCTyBaHH: 3,4 (000B’SI3KOBI).

Sxmo cyma OaniB, sIKy HaOpaB CTYIEHT 3a PE3yJbTaTaMH TECTyBaHb 3, 4,
MeHma 50 OaniB, CTYJEHT Ma€ MpaBO MIJABUIIUTH CyMy OalliB 3a pPaxyHOK
HEO0OOB’I3KOBUX BUIB POOOTH, SIK1 OI[IHIOKOTHCS HACTYITHUM YHHOM:

1) PoOoTa 3 TekcTamu

- YCHUI miepekyiaj Tekcty -1 6ai;

- mepekas Tekcry — 1 oa;

- CIIMCOK HE3HAHOMUX CIIB Ta BUPA3iB 3 MEPEKIAJIOM YKPATHCHKOIO MOBOIO

— 1 6an
- MUCHMOBE pe3toMe TeKCTy — 1 Oai
VY cboro 3a oMH TEKCT MaKCUMaJIbHO 4 Oanu.
3M- TII3 wmictute 4 Ttekctu: ypok III Texketu A, B. C, D, t0o6TO
MaKCHMaJIbHa OIlIHKA 3a TEKCTHU — 16 OatiB.
3M — TI4 wmictute 4 Ttekctu: ypok IV texkctu A, B, C, D, t00TO
MakcHUMaJIbHa OI[IHKa 32 TEKCTHU — 16 OaiB.
VYceboro 3a cemectp — 32 Ganu.
2) ITucpMOBE BUKOHAHHS IPaMaTUYHKMX BIpaB — 1 Oai 3a KOXKHY BIIPaBy.
Hms 3M — 113 — 10 6ams; mrs 3M — 114 - 10 6amis.
¥Yceboro 3a cemecTp MakcumainbHO 20 OaiB.
3) 3aBaaHHS 3 IOMAIIHBOTO YNTAHHS OLIIHIOETHCS HACTYITHUM YHHOM:
1 Gan — mepekyaja 3 aHTIIHCHKOT MOBH YKPaiHCHKOIO;
1 6an — HasABHICTh CIUCKY HE3HAHOMHX CIIIB Ta BUPa3iB y KIJIbKOCTI HE
Mente 100;
1 6am — KOpPOTKE YCHE DPE3IOME 3MICTy TEKCTY aHTJIHCHKOI MOBOIO
o0csarom 7-8 peyeHb;
1 6an — MUCHEMOBE PE3IOME aHTIIIHCHKOI0 MOBOIO.
MaxkcumanbHa oriaka - 4 6amu aist 3M — 113 ta 4 6anu g 3M — [14,
T0OTO 8 OaiB 3a cemecTp.
OOcsr crarTi (a00 aekinbkox ) — 20 tuc. ap. 3u. 3a VIII cemectp.



[HTEeTpabHA OIiIHKA IO TUCIHILIIHI PO3PAXOBYETHCS K CEPEIAHE apH(PMETUIHE
OIIIHKM 3a 3MICTOBHI MOJIYJIl Ta TUCbMOBHUH 1CIIHT.

IIutanHss 70 3axX0AiB MNOTOYHOI0 Ta MiJACYMKOBOIO CEMeCTPOBOIO
KOHTPOJTIO

ITucemoBi Tectu 10 3M-I13 — 3M-I14 cxnanarorecst 3 30 mUTaHb KOXKHUIA.

KoxHa mpaBwibHa BIJANOBIAR OLIHIOETbCS y 1,7 Oana i MHChbMOBOTO

tectyBaHHs Ne3 Ta y 1,7 Gama  misg IHUCBMOBOTO TecTyBaHHsA N4,

MakcumainbHa omidka — 50 6ajiB 3a KOXKHY TECTOBY pOOOTY.

IInceMoOBHI ICIIUT CKIIAIACTHCS 3 3 YaCTHH.

I yactuHa (rpamatuuHa) cknagaeTbes 3 S0 muTaHb y TeCTOBIN (popMi, KOXKHA
IpaBUJIbHA BIANOBI/Ib OLIHIOETHCA B | Oasl, TOOTO MaKCUMalIbHO MOKJIMBA
KUIBKICTB OaJliB 3a 110 YaCTUHY J0piBHIOE 50-1.

Il yactuHa (3HAHHA JEKCUKU 3a CIEHIATBHICTIO Ta il BUKOPUCTAHHS Y

MUCBMOBOMY TEKCTi) Tiepeadayae JIOMOBHEHHS TEKCTYy MPOMYIIEHUMHU

CJIOBAaMHM Ta BUpa3aMH, sIK1 HaJ[aH1 MICJIs TEKCTY Y AOBUIBHIN dopmi.

KosxHa mpaBuiabHa BIANOBIIb 3 JACCATH CIiB 200 BUpPa3iB OIHIOETHCA Y 3
O0anmm, TOOTO MaKCHMaJbHA KUIBKICTH OalliB 3a If0 YacTUHY J0opiBHIOE 30-H.

III yactuHa (PO3YyMIHHS 3MICTY TEKCTy 3a CIELIAJbHICTIO Ta BMIHHS
MpaioBaTi 3 HUM) Mependayae ckiajaHHsA S5 MUTaHb A0 TekcTy yvactuHu I
KoxHe 3 mpaBWIBbHO CKIAJIEHUX NHUTaHb OILIHIOEThCA y 4 Oamu, TOOTO
MaKCHMMaJlbHa OIIIHKA 3a 1[I0 YaCTUHY JOpiBHIOE 20-1.

3araJioM MakKCMMajJbHO MOXJIMBA OIliHKa 3a mucbMmoBui icnut — 100
OaJtiB.
MiHiMajbHa OIIHKA, 32 HASBHOCTI SIKOI MMCbMOBHH 1CIIUT BBAXKAETHCS
3apaxoBaHuM, - 60 OaiB.

3.PexomMenauii 10 camocTiiiHOi po0OTH CTY/AEHTIB
3M-I13

[lin yac BUBYEHHSI T€M LbOIO MPAKTUYHOTO MOAYJs HEOOXITHO 3BEPHYTHU
yBary Ha BUKOPHCTAHHS TEMEPINIHbOIO 4acy JJIsi BUPAXEHHS MailOyTHBOI il



micist if (AKI10); MOXKIUBICT 1HBEPCIl B YMOBHUX PEUCHHSX; BKUBAHHS YaCTKH
to micist MomaapHOTO JiecioBa ought.

Jlitepatypa:
1--cr.17-22;
2 -- c1.32- 71.

IuTanus 1 camonepeBipKu

1.1... I were young again.

A. want B. wanted C. wish
2. | suggest that you ... read it youselves.

A. shell B. should C. must
3. If I ... aletter, I'll answer it.

A. will get B. got C. get
4. 1fonly I ...it!

A. know B. had known C. did know
5. If I had spoken to her, I ... everything.

A. should have learned B. would learn  C. had learned
6. You ... drive fast. We ve got plenty of time.

A. needn't B. must C. couldn't

[IpaBwibHI1 BIANOBIII
1-C; 2-B; 3-C; 4-B; 5-A; 6-A

3M-114

[lin gac BUBYEHHSI T€M IIbOTO MPAKTUYHOTO MOIYJs HEOOXITHO 3BEPHYTH
yBary Ha BIJIMIHHOCTI y BXMBaHHI I€pyH/Iisl Ta IMEHHHUKIB 13 3aKIHYEHHSIM Ha -
Ing (BXXMBaHHS 3 IPUCTIBHUKOM a00 MMPUKMETHUKOM, HasiBHICTh a00 BiJICYyTHICTh
OpsMOro  JOJaTKy, Miclle NpUMMEHHHKa) Ta OCOOJMBOCTI MEpeKIamy
a0COJIIOTHOTO A1ENPUKMETHUKOBOIO 3BOPOTY.

Jliteparypa:
1--cr.17-22;
2 -- cT1.32- 71.

Iutanns s camonepeBipKu



1. I object ... your participating.
A. of B. - C.to
2. He stopped ...
A. smoking B. having smoked C. being smoked
3. They were made ... work hard.
A. - B. of C.to
4. We have never heard this girl ...
A. to sing B. sing C. to be singing
5. ... the exercise, the student left it to ...
A. Having written, be checked B. writing, check  C. while
writing, have been checked
6. I will have my photo ...
A. being taken B.taken  C.totake

[TpaBwibHI BIAMOBIII
1-C; 2-A; 3-C; 4-B; 5-A; 6-B

Bxka3iBkM 3 NiATOTOBKHM NMCbMOBOI0 MEePEKIANY

TekcT cycninbHO-MOMITUYHOTO 3MICTY MOXE CTOCYBaTUCS Oy/1b-
AKO1 TeMH (ITOJIITHKA, EKOHOMIKa, KyJIbTYpa, MUCTELITBO, KpAiHO3HABCTBO
Ta iH.). Bin Mae HaniuyBaTu npu6au3no 20 THC. Ap.3H. 3 Ta OyTH
MPEICTABIICHUN Y BUTJISAI KCEPOKOIIii a00 po3apyKiBKH 3 [HTepHET-
BuaaHHs. [lo nmepexnany yKpaiHChKOIO MOBOIO CJIiJl JOJIaTH CIIHUCOK
HE3HAMOMHUX CITIB Ta CIIOBOCIIONYYEHb 3 IXHIM MEPEKIIaIoM Y KUIBKOCTI HE
menIe 100 nekCMYHUX OJIMHULIb, TA KOPOTKE PE3IOME aHTITMCHKOIO
MOBOIO.

4.1IuTaHHA 10 32X0iB MOTOYHOIO, MiJICYMKOBOI'0
Ta CEMECTPOBOr0 KOHTPOJIIO

VY nyxkax — TOCWJIAHHS Ha JDKepena Ta CTOPIHKM, J€ MOXKHAa 3HaWTH
TEOpPETUYHY 1H(OPMAILIiIO TT0 3aBJAaHHIOO (JUB. PO3/ILT 5).



4.1TecrtoBi 3aBaaHHsI 10 TecTyBaHHs y moayJai 3M-I13
1.Put the verbs in the brackets into the correct tenses (3, ¢.175):

1) Her son always observes the highway code: if he (to cross) the road, he will
wait till lights show green.

2) If she had lost her spectacles, she (not to be) able to read this article.

3) If we were here, we (to answer) you.

A1 will lend you this book if | (to finish) it before you go on holiday.

5) It would be embarrassing, she (to be) to find out the truth.

6) If you (to happen) to be in our area, drop in and see us.

7) If your mother were here, I’m sure she (not to let) you eat all those
chocolates.

8) Unless it (to rain), I’ll pick you at six.

9) I would be amazed if Christie (not to win).

10) She (not to go) to university unless her parents had insisted.

11) If Joseph de Ribas (not to present) those two small gardens to the city, we
couldn’t have enjoyed one of the most popular holiday destinations of Odessa.
12) She was angry with him, otherwise she (not to say) such offending words.
13) Unless you (to can) deliver the machines by the 15" September, we will be
compelled to cancel the order.

14) Suppose it (to snow), what will we do?

2.Put the verbs in the brackets into the correct tenses of the Subjunctive
Mood (3, ¢.174-175, 5, ¢.164, 166, 168, 170, 172):

1) He walked into the room as if nothing (to happen).

2) But for the rain the girls (to go) for a walk.

3) The dean suggested that Peter (to take) a refreshment course.
4) (to be) it so!

5) He demands that we (to be) attentive.

6) It is necessary that the boy (to read) this book.

7) He ordered that George (to run) to the nearest village.

8) Come closer so that | (to show) you a schedule.

9) She spoke as if she (to know) everyone there.

10) Peter speaks French as if he (to be) a Frenchman.

11) But for a bad cold he (not to go) fishing.

12) But for a certain lack of concentration you (not to be able) to accomplish
this task.

10



3. Complete these sentences with “I wish” by using the verbs in the
brackets into the correct tenses (3, ¢.174-175):

1) I enjoy my job enormously, but I wish it (to be) closer to home.

2) I wish I (not to tell) you about it.

3) I wish he (to come) home, but I don’t think he will.

4) | wish we (to see) mote of each other these days.

5) I wish I (to see) this movie a week ago.

6) They wish they (not to invite) John to their housewarming party. It was so
dull.

7) Sue is taking her English test tomorrow. She wishes she (to learn) grammar
better.

8) The cake is delicious, but I wish there (not to be) so much fat in it.

4. Make the sentences with “I wish” (3, ¢.174-175):

1) I have eaten too much and now I feel seek. I wish ...

2) It is cold and I hate cold weather. I wish ...

3) A good friend of mine visited our city, but unfortunately | was away when he
came. So [ didn't see him. 1 wish ...

4) My sister didn't know that Ann was ill. She would have gone to see her. She
wishes ...

5)  am not lying on a beautiful sunny beach and that's a pity. [ wish ...

5. Complete the following sentences with modal verbs or their
equivalents (3, ¢.165-167; 5, ¢.30, 32, 34, 36, 38, 40):

1) Our teacher says we ... speak English fluently in a few months.
2) It ... rain, you'd better take a coat.

3) He said it ...rain.
4)... you help me with the washing up, please?
5) My dentist says I ... eat so many sweets.
6)—Shall I translate this text? — No, you ...
7) All ... respect their parents.

8) It was Sunday yesterday, so he ...to be at work.

9) The conference ... begin at 10 o clock.

10) She ... be Irish with a surname like O Neil.

11) You ... not wait for me.

12) Nobody answers the phone. They ... be out.

13) ... you mind passing me the salt?

14) As you ... remember, | was always interested in scientific experiments.
15) They ... be tired. They have been travelling all night.

11



16) The train ... arrive at five o'clock.

6. Fill in the blanks with the appropriate words:

a) Costs and supply

Companies have to spend money in order to make money. The money they
spend to manufacture their goods or provide their services are called 1) :
Costs are important. Any company that doesn't keep track of costs will soon be
in 2) . And there are many different kinds of costs to keep track of such us
fixed costs and variable costs.

Why are costs important? Well, for two reasons: Firstly, there is a 3)

between costs and profit. Profit is overall 4) minus costs. Secondly, there
is a relationship between costs and supply. To understand this relationship, we
need to look at some types of cost. One type is fixed costs. Fixed costs are costs
that don't 5) . They are costs that the company has to 6) each
month, for example, or each year. The value of fixed costs will not rise or fall in
the short 7) . Examples include the rent the company pays, the interest
they have to pay each month on any loans and the salaries they have to pay for
permanent 8) . Fixed costs don't change with increases in production. For
example, imagine a company produces 1,000 pens in January and 2,000 pens in
February. The rent for the factory remains the same for both months. Variable
costs, however, change (vary) with the size of production. The more pens the
company produces, the more these costs 9) . Examples of variable costs
are the raw materials needed for production, the cost of electricity and the cost
of 10) machines that are working more. Also, the company may need to
get more part-time employees. Their hourly pay is another variable cost.

A. relationship B.change C.costs D.employees E.term
F.pay G.revenue H.trouble I.increase J. maintaining

b) Market structure and competition

When economists talk about market structure they mean the way companies 1)
with each other in a particular market. These are two very different

market structures, but there are many other possible structures. Market structure

IS important because market structures, consumers have more control over price.

12



You can think of market structure as a kind of 2) . At one end of the scale
Is perfect competition and at the other end is pure monopoly. In a market with
perfect competition, there are many companies 3) the same good or
service, but none of them are able to control the price. This sounds fine, but in
reality it is very difficult for such a market structure to 4) . What's needed?
First of all, there must be many small companies competing. Each company has
its own small 5) of the market. If one company has a much larger share
than any other, it can affect price, and perfect competition will no longer exist.
Secondly, products or services from different companies must be the same. This
doesn't mean that everything on the market has to be 6) , but they have to
be perfect substitutes. In other words, one company's product must satisfy the
same need as another company's. Imagine a company produces a television that
also makes tea. Its product is different from everyone else's. If it chooses to raise
the price of its TVs, customers may still want to buy them because of this
difference.

Thirdly, customers and companies must have perfect and complete 7) :
This means that they know everything about the products and prices on the
market and that this information is correct.

Fourthly, there mustn't be any barriers to new companies entering the market. In
other words there must not be anything that helps one company stay in the
market and blocks others from trading.

Finally, every company in the market must have the same 8) to the
resources and technology they need.

If all of these conditions are met, there is perfect competition. In this kind of
market structure, companies are price takers.

A. supplying B.share C.identical D. scale
E. information F.compete G. access H. exist

¢) Monopolies

In a monopoly, one company has a much larger market share than any other
company. In fact, their share is so big that other companies cannot really
compete. When there is a monopoly, the normal laws of 1) and demand
do not always work. Monopolies come in different kinds, but a pure monopoly is
when there is only one company in the market 2) a particular product or
service. This situation, in fact, is the exact 3) of perfect competition. How
do pure monopolies happen?

Some monopolies occur 4) . This happens when a company manages to
create an economy of scale. An economy of scale is when variable costs of
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production increase more slowly than increases in supply. Every company
would like to be in this situation. Unfortunately, it's not easy to achieve.
Economies of scale are possible for companies which need a lot of money to set
up but much less money to 5) . A telephone company is a good example.
Telephone companies have to spend millions of pounds laying cables. However,
once they have made the network, running the system does not cost so much.
Any other company that wants to compete will have to make their own 6)

However, there are more aggressive ways to create a monopoly. One of these
is by making takeovers. This means that a more 7) company buys a
smaller one in the same industry. Takeovers happen vertically or horizontally. In
a vertical takeover, a company buys companies that supply it with materials or
services. For example, a publishing company might buy a 8) business. In
a horizontal takeover, a company buys its competitors. The competitors then
become part of the first company.

One final way a monopoly occurs is for the government to make it happen.
This is called a 9) monopoly because it is created by law. The government
may decide that a competitive market is not good for a certain industry. In this
case, it can make one company the only legal supplier. Sometimes, it provides
the service itself. This is called a state monopoly. The postal service in many
countries is an example of a state monopoly.

Generally, monopolies are not good for consumers. This is because in a
monopoly, the laws of supply and demand do not work in the same way. A
company with a monopoly becomes a price maker. They have much more
power to set the price for their product or service. Also, they don't usually spend
money on 10) because they don't need to. The bottom line, as they say, is
that monopolies mean less choice for consumers.

A. naturally  B.innovation C.supply D.printing E.run
F.providing  G.network H. opposite I. powerful J. legal

4.2. TectoBi 3aB1aHHs 10 TecTyBaHHs y moayJi 3M-I14

1.Supply suitable infinitive forms (with or without “to”) for the verbs given
in the brackets (3, ¢.182-183, 5, c. 46):

1) 1 would like home now. (go)
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2) Let him a few minutes more. (stay)

3) Youcan't with your eyes closed. (read)

4) We are allowed in class. (stay)

5) You ought not my car without my permission. (take)

6) Aren't you glad us here. (see)

7) Let me that letter for you. (post)

8) Why were you waiting here? You should round the corner. (wait)

9) How was the table scratched? It must when it was being moved. (do)
10) She is a slow worker! | could the job twice in the time she is taken.
(do)

2.Supply suitable infinitive forms for the verbs given in the brackets (3, c.
182-183, 5, ¢.140, ):

1) It seemed since the very morning. (rain)
2) I'm sorry not you. (help)

3) I'm awfully glad him. (meet)

4) It is pleasant all the way home. (walk)
5) I'm happy to this place. (invite)

6) He made me it all over again. (do)

3.Replace subordinate clauses with infinitive clauses (3, c. 183-184):

1) The problem is so difficult that it is impossible to solve it.

2) The box is so heavy that nobody can carry it.

3) The baby is so little that it cannot walk.

4) | have very little wool: it won't make a sweater.

5) She was sorry that she had missed the beginning of the concert.
6) | should be delighted if I could join you.

4.Combine two sentences into one, using objective infinitive construction (3,
.183-184):

1) We saw her. She smiled and began to tell the story.

2) We didn't notice him. He opened the window.

3) Jack saw his mother. She watered the flowers in the pots.
4) Somebody knocked at the door. We heard it.

5.Transform the following sentences using the subjective infinitive
construction (3, ¢.183):

1) I expect these telegrams to be sent tomorrow.
2) We know her to be a talented actress.
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3) We heard her sing a folk song.
4) Everybody supposed him to be a foreigner.

5.Supply gerund forms (indefinite/ active/passive or perfect/active/passive)
for the verbs in the brackets (3, c. 184):

1) We were sitting for a long time without . (speak)

2) The guests were let in without . (great)

3) On he was home alone he decided not to get up till 11. (discover)
4) The apartment wanted badly. (do up)

5) Nobody looks his best after up all night. (sit)

6) I'm tired of like a silly child. (treat)

7)What | like is . (ride)

8) I enjoy . (read)

6.Supply the correct prepositions (if necessary) with gerund forms (3, c.
185):

1) He has always dreamt visiting other countries.

2) The cold weather prevented us going for long walks.
3) We are looking forward seeing you again.

4) 1 don’t approve your drinking so much coffee.

5) I insist being told the truth.

6) He avoided speaking to them about this matter.

7) Do you mind my asking you a difficult question?

8) Please forgive my interfering.

7.Supply active or passive gerund forms (3, c. 184):

1) Why do you avoid to me? (speak)

2) She tried to avoid to. (speak)

3) The doctor insisted on the sick man to hospital. (send)
4) The child insisted on home at once. (send)

8.Put the verb into the correct form, using gerund or infinitive (sometimes
either form is possible) (3, c. 183, 185):

1) Do you mind such a long way to work every day? (travel)

2) | can’t stand people me what to do when I'm driving. (tell)
3) Do you like ? (drive)
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4) 1 would love to your wedding. (come)
5) 1 would like to play the guitar. (learn)

9.Supply Present Participle or Past Participle of the words in the brackets
(3, c. 186, 5, c. 46):

1) 1 took a sheet of paper from the envelope. (fold)
2) There were bright stars in the sky. (shine)
3) The deep silence was like a question in the dark between them.

(hang)
4) A man sat at a table for dinner. (wait, lay)

10.From each pair of sentences make one sentence beginning “having” (3, c.
186):

1) He met her at the station. Then he kissed her.

2) They had dinner. Then they went for a walk.

3) We bought the tickets. Then we boarded the train.
4) She did all her shopping. Then she went home.

11.Supply suitable participle forms in the Absolute Participial
Constructions (3, c. 187):

1) The weather (be) cold, he put on his overcoat.

2) The weather (change), we decided to stay where we were.

3) The bridge (sweep) by the flood away, the train didn't arrive.

4) The next morning, it (be) Sunday, they all went to church.

5) He started about five, Riggs (inform) him that the way would take him
three hours.

6) She stood silent, her lips (press) together.

12. Fill in the blanks with the appropriate words:

a) The labor market
In many ways the relationship between employers and workers is similar to

the relationship between consumers and producers: workers 1) a service
(the labor they provide), employers buy that service at a price they can afford
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(the 2) they pay). As you can see, it's a kind of market. In economics, it's
called the labor market,

In any market for products and services, consumers try to get the maximum
3) , or satisfaction, from their purchase. This is the same in the labor
market. What do companies want from their purchase of labor? What utility do
they get? The answer is 4) output. Output is how much of the product or
service the company produces. If there is an increase in demand for their
product, they will need to increase output. One way to do this (but not the only
way) is to take on more 5) . Another is to ask staff they already have to
work more hours. In both cases, the company is buying more labor.

Just like any other market, the labor market 6) the laws of supply and
demand. The demand is the employers' 7) for labor. Supply is the labor
workers provide. Just like any other commaodity, there is a 8) between
price and demand. As the price of labor increases, the demand decreases. The
wage that workers get for their labor is a compromise between what they want
and what companies will pay.

However, there can be 9) in demand. These shifts can cause the
overall demand for labor to increase or decrease at any wage rate. For example,
if there is an increase in the demand for the end product or service, there will be
an overall increase in demand for labor. However, if new technology can replace
workers, then there will be an overall decrease in demand for labor.

One more thing which affects demand for labor is workers' productivity. The
productivity of a worker is how much they produce in a certain time. When
worker productivity 10) , companies will pay less for labor. They are also
less likely to employ new workers.

A.wages B.offer C.shifts D.increased E. need
F.staff  G. utility H.obeys . relationship J. falls

b) Market economy

Throughout history, every 1) has faced the fundamental economic
problem of deciding what to produce, and for whom, in a world of limited
resources. In the 20th century, two competing economic 2) , broadly
speaking, have provided very different answers: command economies directed
by a centralized government, and market economies based on 3)
enterprise. Today, in the 21st century, it is clear that, for people throughout the
world, the central, command economy model has failed to sustain economic 4)

, to achieve a measure of prosperity, or even to provide economic security
for its citizens.

Yet for many, the fundamental principles and mechanisms of the alternative,
a market economy, remain unfamiliar or 5) — despite its demonstrable
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successes in diverse societies from Western Europe to North America and Asia.
In part, this is because the market economy is not an 6) , but a set of time-
tested practices and institutions about how individuals and societies can live and
prosper economically. Market economies are, by their very nature,
decentralized, flexible, practical and 7) . The central fact about market
economies is that there is no center. Indeed, one of the founding metaphors for
the private marketplace is that of the "invisible 8)

Market economies may be practical, but they also rest upon the fundamental
principle of individual freedom: freedom as a consumer to choose among
competing products and services; freedom as a producer to start or expand a
business and share its risks and 9) ; freedom as a worker to choose a job or
career, join a labor union or change employers.

It is this assertion of freedom, of risk and opportunity, which joins together
modern market economies and political democracy.

Market economies are not without their inequities and abuses — many of
them serious — but it is also 10) that modern private enterprise and
entrepreneurial spirit, coupled with political democracy, offers the best prospect
for preserving freedom and providing the widest avenues for economic growth
and prosperity for all.

A.private B.ideology C.hand D.systems E. misunderstood
F.society G.growth  H.changeable |I.rewards J.undeniable

¢) Command decisions about clothing

If we 1) such market economies as those of North America, Western
Europe and Japan to the command economies found in the former Soviet Union,
Eastern Europe and parts of Asia over the past half century, the processes used
to determine what products to make, how to make them, what prices to charge
for them, and who will consume them are starkly 2) :

To see those differences more clearly, consider 3) production and

sales decisions are made in the two kinds of systems for a specific kind of
product, say shirts and blouses.
In command economies, government committees of economic 4) :
production experts and political officials establish production levels for these
goods and designate which factories will produce them. The central planning
committees also establish the 5) for the shirts and blouses as well as the
wages for the workers who make them. It is this set of central decisions that
determines the quantity, variety and prices of clothing and other products.
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Predictably, the products from this limited number of choices sell out quickly,
disappearing from store 6) . Why? Because factories failed to meet their
production quotas, perhaps, or because the central planning group
underestimated how many shirts people want to buy at the prices they set. In
either case, unless the planners take steps to increase production, raise prices or
both, the shortages will continue.

As the number of people living in the command economies 7) , along
with the number and sophistication of new products, it becomes harder and
harder for central planners to avoid or eliminate shortages of the many things
consumers want — or surpluses of the products they don't. With more products,
more people and rapidly changing production technologies, the central planners
face an explosion in the number of decisions they have to make, and in the
number of places and ways where something could go wrong in their overall
plan for the national economy.

This phenomenon doesn't 8) in the market economies, because that

kind of economic system works in a very different way.
To begin with, no government ministry 9) how many shirts or blouses to
manufacture, or what styles and colors. Anyone — individual or company —
can decide to produce and sell shirts and blouses in a market economy, and
many will do just that if they believe they can sell these products at prices high
enough to cover their production costs — and earn more making such clothing
than they can doing something else. This leads to direct competition between
different firms making and selling these products, and that competition is one of
the basic 10) why there are generally so many different styles, fabrics and
brands of clothing for consumers to choose from in market economies.

A.how B.reasons C.compare D. prices E. different
F.shelves G.happen H.decides |I.planners J.increase
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4.3. TectoBi 3aB1aHHsI 10 eK3aMeHaNiiiHOT PodoOTH

PART I

GRAMMAR

I. Supply the articles (a, an or the) if they are
necessary (3, c. 204-207, 5, c. 88, 90, 92, 94):
1. Statue of Liberty was a gift of friendship from ___ France to
____United States.
. I begantoread _historical novel.
. We got jobin south and spent next two years doing
we really enjoyed.
. Tom is studying English and math this semester.
5. Civil War was fought in United States between 1861 and
1865.
6. Lake Erie is one of Great Lakes in North America.

w N

D

I1.Make these sentences plural (3, c. 201-203):
1.This is a very rare phenomenon.
2. The deer was quick and strong.
3. This bicycle is for a child.
4. | have a piano.
5. She is his wife.
6. The deer was ready to start.
7. She is my sister-in-law.

lll. Choose the right pronouns (3, c. 236-237, 5,¢.96,120):
1. Thisbookis .
2.Do the homework .
3.Jane likes to read, this book is for .
4.Where do they live with ___ children?
5. Where is the article you have translated?
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6. The boy IS speaking to me was my student before.
7. Would you like coffee?
8. She had rest.

IV. Choose the right forms of the Adjectives (3, c.218-
219):

1.The island of Great Britainis ___ than Greenland. (large)

2.Thisis ___city in the country. (big)

3.Your results are ____in your group. (bad)

4. Your car is than mine. (good)

5. He was singer of this year. (popular)

6. He is man | have ever seen. (strong)

V. Complete the questions (3, c. 307-308, 5, c. 52):
1. does your working day begin?
2. subjects are you good at?
3. old are you?
4. students are there in your group?
5 Is your father? - He is an engineer.

VI. Complete the sentences with modal verbs (3, c. 165-
167, 5, c. 30, 32, 34, 36, 38, 40):
1.You devote so little time to the child. You __ give him more attention.
2.John __ run very fast.

3. lcomein?

4. It rain. You d better take a coat.
5. You ring the bell, I have a key.
6. You drink this. It is a poison.

VIl. Choose the right equivalent of the modal verbs (3, c.
135-137):
1.The buses were all full: | get a taxi. (must)
2.1 don't feel well: | work tomorrow. (not can)
3. The train arrive at six o clock. (must)
4.You bring dictionaries from the library. (may)

VIII. Turn this sentence from the active into the passive

(3, c. 159-160, 5, c. 44, 46, 48, 50):

1. She didnt introduce me to her mother.
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2. They are sending Mr Smith abroad on business.

3. The wind blows the clouds away.

4. They give him English magazines.

5. We can solve this problem.

6. They had to postpone the meeting because of illness.
7. The examiner won 't read the text twice.

IX. Turn this sentence from the passive into the active
(3, c. 159-160):

1.The enemy is being driven back by our soldiers.

2. Everything that was needed has been done by Alec.

3. The amendment has been repeated by the other members.
4. We were told the news by the teacher.

5. The road was illuminated by the moon.

6. This book is often referred to by her.

X. Fillin the blanks with the verbs in the Present Simple
or the Future Simple (3, c. 125, 127, 175):
1.Unlessyou  hard, you  the exam. (study, not to pass)

2. 1f | to her tomorrow, | everything. (speak, learn)
3. 1 very angry if he any more mistakes. (be, make)
4. If you late they you in. (come, let)

XI. Use the correct Present (Simple or Continuous) tense
form (3, c. 125, 128):
1. My classmate ___ the violin every day. (play)

2.Don‘trushme. | __ as fast as | can. (work)
3.1 tomorrow morning. (leave)

4.These flowers very sweet. (smell)

5. You always I (smoke)

Xll. Fill in the blanks with the verbs in the Past Simple or
the Present Perfect (3, c.126, 128):
1. Mr Cooper ___ our neighbor for two years. (be)
2. She __ her employer yesterday. (not to call)
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3. When William Evans 18 years old he his village in Wales

and
to London. (be, leave, go)

4. We our dinner already. (have)
5. I never to Italy before. (be)
6. Their son just . (return)

XIlL. Fill in the blanks with the verbs in the Past Perfect or
the Past Perfect Continuous (3, c. 130-131):
1. We ___ along the road for about 20 minutes when a car stopped and the
driver offered us a lift. (walk)

2.We __ our work by seven o clock last night. (finish)
3.When I arrived, Ann for me. (wait) She was rather nervous with me

because | was late and she for a very long time. (wait)
4.Tom was leaning against the wall, out of breath. He . (run)
5.1 tried to catch the boy but I couldn’t. He very fast. (run)

XI1V. Fill in the blanks with the verb in the Future Perfect or the Future

Perfect Continuous (3, ¢. 130-131):
1. By the end of this week | __ seventeen days for my phone to be repaired.
(wait)
2. | ___ this book by tomorrow evening. (finish)
3. They the car by the end of the week. (repair)
4. By this time next week, on this book for a year. (work)

XV. Fill in the blanks with the verbs in the Past Simple or the Past

Continuous (3, c. 126-128):
1.We __ outbecauseit . (notto go, rain)

2.You television when | you? (watch, phone)

3.What you at this time yesterday?

4.1 Helen at the party; she a really beautiful dress. (see, wear)
5.1 a plate last night. | the washing-up when it

out of my hand. (break, do, slip)

XVI. Fill in the blanks with the verbs in the Future Simple or the Future
Continuous (3, c. 127, 129):
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1. Do you think you still here in three years’ time? (work)

2. 1 don't think | him tonight. (see)
3. Sit down and fasten your seat belt. We in a few minutes. (take off)
4. In five years’ time a permanent space station the moon. (circle)

XVII. Put the following sentences into the past (3, c. 149-151):
1. He understands that he will never forget her.
He understood that he never ___ her.
2. He thinks that | am playing chess.
He thought that I chess.
3. | know that her mother is a housewife.
| knew that her mother a housewife.

4. He says that his friend lived in Kyiv.
He said that his friend in Kyiv.

5. He tells me that his father was a teacher.
He told me that his father a teacher.

XVIil. Put the following sentences into Indirect speech (3, c. 154-155, 5, c.
64, 66):

1. ”Will you be free tomorrow?”” - Peter asked Dick.

2. “No, I have no time”, - she said.

3. He said: “I never eat meat.”

4. She said: “I was at the theatre last night.”
5. She said: “Give me a spoon and a fork, please.”
6. Tim said: “I'm sorry to disturb you, Betty.”
7. 1 asked them: “Did you see him last evening?”’

XIX. Put the verbs into the correct tenses in these Conditional sentences
(3,¢.175-176):

1. If he knew that it was dangerous he . (not to come)

2. 1f 1 __ again | think that | would have succeeded. (try)

3.1 __ ataxiif I had realized that it was such a long way. (take)

4. 1"d climb over the wall if there so much broken glass on top of it.
(not be)

5.1f you ten minutes earlier you would have got a seat. (arrive)

6. She had a headache; otherwise she with us. (come)
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7. What would you do if somebody you a lot of money? (give)

XX. Choose the right forms of the Infinitive (3, c. 182-184):

1. | promise you your order will __ today. (send)

2. He is a slow worker! I could __ the job twice in the time he is taken. (do)
3. I don't know what Mark is doing. He may ___in his room. (study)

4. Why ? (not to come)

5. Let me it for you. (do)

6. I'm happy to your birthday party. (invite)

XXI. Choose the right forms of the Gerund and the right pronouns (if
necessary) (3, c. 184-185):

1.I'mfond __ . (read)

2. The guests were let in without . (greet)

3. After it he regretted not ___ the opposite. (say, say)
4. When | the pupil answered very well. (ask)

5. She burst out . (cry)

6. Excuse my you at such a moment. (leave)

7. I'm looking forward on holiday. (go)

8. They accuse him the house. (rob)

9. She insisted the truth. (tell)

XXIl. Choose the right forms of the Participle (3, c. 186-187):
1. There were bright stars in the sky. (shine)
2.She had her hair (do)
3. the exercise, he left it to be checked. (write)
4. When | asked him this question he seemed terribly . (surprise)
5. You can set your mind at ease, all well. (be)
6. The sun an hour before, it was getting darker. (sit)

PART II
READING COMPREHENSION

a) The Price of Shirts

A key 1) about market economies is that the prices for shirts, blouses
and other products sold in stores aren't set by a government planning committee.
Instead, every 2) Is free to raise or lower prices according to changing
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market conditions. For example, if one kind of shirt becomes very popular for a
time, and stores are worried about running out until they can get more, the price

of such shirts will usually rise, at least until new 3) arrive. This price
increase 4) two things at the same time. First, by making this kind of shirt
more expensive compared to other shirts and products, some consumers will
choose to buy 5) of them, and more of other items. Second, because the
higher price goes directly to those who produce and sell the shirts — not the
government — the higher price increases the 6) of firms that make and
sell this shirt, enabling them to produce and sell more 7) . Firms that make
other products also see those higher profits going to the shirt producers, which
leads some firms to stop making something else and 8) making those
popular shirts.

For all of these reasons — consumers buying fewer shirts, current
shirtmakers producing more shirts, and other firms 9) to begin making

shirts — any shortage will soon be eliminated. Notice that it doesn't take a
central planning committee to make any of these decisions. In fact, the process
happens faster, and in some sense automatically, 10) because consumer
and producer decisions are decentralized.

A. accomplishes  B. profits C.seller D. precisely E. start
F.units G. deciding H.point I.shipments J. fewer

b) Markets

The higher prices for shirts give every consumer and producer incentives to
respond this way, because they are allowed to 1) the benefits of their own
decisions, while also bearing the associated costs and risks. For example,
consumers 2) to pay the higher prices can still get the most popular shirts,
but they have to give up more money (and therefore other goods and services) to
do so. On the production side of the market, firms making shirts that are popular
with consumers can sell them at 3) prices and earn profits. But producers
who make unwanted products, or operate inefficiently and pay too much to
make their products, will incur 4) . Eventually, they must either learn to
produce and compete efficiently — making products consumers want at
competitive prices — or they will go out of 5) , and someone else will
take over their factories, machines and other resources. In a 6) , that's how
economic incentives work in a market economy.

The same basic process operates in many different kinds of markets —

literally wherever any kind of price is free to rise and fall, 7) prices for
the work people do, for the food they eat, and for the money they save in or 8)
from banks.
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Market economies provide no magic solutions, however, and government
plays a critical role in helping correct problems that can't be fully solved by a
system of private markets. Moreover, market economies are by no means 9)

to pressing public policy issues in today's global economy — issues such
as inflation, unemployment, pollution, poverty and barriers to international
trade. Nevertheless, in comparison to the chronic shortages and inherent
inefficiencies of command economies, a free-market economic system offers
greater 10) for economic growth, technological progress and prosperity.

A. competitive  B. business C.willing D. borrow E.immune
F.including G. opportunities H. nutshell I.reap J. losses

¢) Prices and Consumer Incomes

An economic factor that consumers must consider carefully in making their
purchases of goods and services is their own level of 1) . Most people earn
their income from the work they perform, whether as physicians, carpenters,
teachers, plumbers, assembly line workers, or clerks in retail stores. Some
people also 2) income by renting or selling land and other natural
resources they own, as profit from a business or entrepreneurial venture, or from
interest paid on their savings accounts or other investments.

The important points here are that:

- in a market economy, the basic resources used to make the goods and services
that satisfy consumer demands are owned by private consumers and 3) ;

- the payments, or incomes, that households receive for these productive
resources rise and fall — and that 4) has a direct influence on the amount
consumers are willing to spend for the goods and services they want, and, in
turn, on the output levels of the firms which sell those products.

Consider, for example, a worker who has just 5) , and as a result earns
only about 60 percent of what she did while she was working. She will cut back
on her purchases of many goods and services — especially those that were
related to her job, such as transportation to and from work, and work clothes —
but may increase spending on a few other kinds of products, such as books and
6) goods that require more leisure time to use, perhaps including travel to
see new places and old friends.

If, as in many countries today, there are rapidly growing numbers of people
reaching retirement age, those changing spending patterns will 7) the
overall market prices and output levels for these products, and for many others
which retirees tend to use more than most people, such as health care services.
In response, some businesses will 8) to make more products and services
geared toward the particular interests and concerns of retirees — as long as it is
profitable for firms to produce them.
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To 9) . whether consumers are young or old; male or female; rich,

poor, or middle class; every dollar, peso, pound, franc, rupee, mark or yen they
spend is a signal — a kind of economic vote telling producers what goods and
services they want to see produced.
Consumer spending represents the basic source of demand for products sold in
the 10) , which is half of what determines the market prices for goods and
services. The other half is based on decisions businesses make about what to
produce and how to produce it.

A.receive B.summarize C.retired D.decide E. marketplace
F. recreational G. affect H. households I.income J. fluctuation

PART Il

Put 5 questions to each text of the part II.

5. JITEPATYPA JJIsI BUBYUEHHA JUCIUIIIIHA
OCHOBHa

1. HaBuanbHuii mociOHMK 3 aHTJiiicbkoi MoBHU s ctyaeHTtiB IV kypey (VI,
VIl  cemecTtpiB) nenHoi (opmMu  HaBYaHHS 32  CHEIAJIBHICTIO
«MenemxmenT», «IlyOmiuHe ympaBiiHHSA Ta aJMIHICTPYBaHHS». YKiajaadi:
[lToroBa-Hikonenko I'.B., [Tonnosuu I.I. Oneca: OAEKY, 2019 p., 198 c.

2. Metoau4uHi BKa3iBKA JO MPAKTUYHHUX 3aHATH 3 aHTJIHACHKOI MOBH ISt
ctyneHTiB IV poky neHHoi (opmMu HaBYaHHS YCiX HampsiMiB MiATOTOBKH.
VYxnanaui: berr O.0., Kynenina O.1O. Oneca: OAEKY, 2021 p.,131c.

3. Onpra Bamirypa, Jlapuca JlaBuaenko. Amnrmiiiceka moBa. KomriekcHa
MACOTOBKA [0 30BHIMIHBOIO HE3aJEKHOrO OLIHIOBaHHA. BuganHs m’dre,
nonoBHeHe. TepHominb: “ [Tinpyunuku 1 mocibnuku”, 2020, 591 c.

4. bouk H.A., Koruii I'.A., JlykesaoBa H.A. YueOnuk anrmuiickoro si3pika. B
2-x 4. M.: "Jlexont", K.: “Apuii”, 2007, 638 c., 510 c.
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